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1) ROC DIZABHEFEEELGSL, (AR X5E=20:)

1) 168485547 +9WE147 53127
=( YA( JEfE( )53 (

2) 4kgb23g—2kg738g
=( Yke( g

3) 7km18m—5km963m
=( Ykm( )m

4) 54dL+7345mL
=( L( ymL

5) 5347L—2kL813L
=( JkL( )L

B
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2) RO(C DIZABBFEEELEL, (4R X5E=201)

1) 23F:f1854% — 1711485467
=( iR )53 ( B

2) 815kg+786ks
=( 1( kg

3) 6015m+8km57m
=( Ykm( )m

4) 1L7dL—902mL
=( ymL

5) 15KE6134% +8KE107587#
=( YA( R ( )53 (

B



NTERADHB(HEBERFH
4 —rh2RER—9R — 48— KBE A
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3) RO(C DIZAZBFEEELE, (4R X5E=201)

1) 25Kf784r84% + 18K EI695102%
=( YA( JEfE( )53 (

2) 4t23kgbh31g—3t495kg728g
=( Yke( g

3) 57mm+6ecm8mm—107mm
=( Yem( Ymm

4) 4.5kL—2183L
=( JkL( )L

5) 625kg75g+385kg783g
=( )t ( Ykg( )g

B
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4 —rh2RER—9R — 48— KBE A
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4) RO(C DIZABBFEEELEL,. (4R X5E=201)

1) 1B5KEES85 187 — 16K E234 528
=( iR )53 ( B

2) 1t53g—971kg869g
=( Ykg( g

3) 4km1417¢cm—2km176m58cm
=( Ykm( ym( Jem

4) 354mL+753mL+9dL
=( L( ymL

5) 63cm+754mm—89. 5¢cm
=( Yem( Ymm
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4 —rh2RER—9R — 48— &IE A =]
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5) RDO( DIZAZBFEEELEIL, (4R X5E=201)

1) 208327 —118[E575 468
=( iR )53 ( B

2) 412kgh75g2+538kg6782—876kg484g
=( Ykg( g

3) 2km243m58cm+3km1018m67cm—1453m8cm
=( Ykm( ym( Jem

4) 3. 2kL—-1kL47L
=( JkL( )L

5) 6kL17L17mL+8kL213L483mL—9kL538L743mL
=( JkL( )L( JmL
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1) ARE—ME (4= x58) A B
1) 1,2,36,6 2) 1,785 3) 1,55
4) 12, 745 5) 2,534

2) KIE—RE (4R x5H) A B
1) 5,29, 18 2) 1, 601 3) 14,72
4) 798 5 1,2, 30, 41

3) Kig—EE (4R x5%8) A B
1) 1,21.30.6 2) 527, 803 3) 1,8
4) 2,317 5) 1,10, 858

4) AKE—RE (AR x58) A =]
1) 12, 44, 26 2) 28,184 3) 1,837, 59
4) 2,7 5) 48,9

5) RE—ME (4R x58) A B
1) 8, 2,46 2) 74,769 3) 4,809, 17

4) 2,153 5) 4, 691, 757



